


i, J
QAN PSS
R RR AR RLRS
SRR ¢i::f:¢*:¢£‘ :
RIS
'*::zi' X
0
Pelee
&

$o%s

‘-l

.

#"*E.
S0
"*"i:-r

%)
‘:’i‘-'l

-

Aty

| II:I!.

R

% ::::? A
i 'ﬁaﬁ"}”m‘e
i

o

o
000000000
00000000000
00000000000
00000000000
00000000000
cessecasnse
0000000000
0000000000




ALPHA ----rermseeomesremmer e 01/02
PULY sommemmsmmassimssutmmossiasssomn s s -03/04
(0] ¥ IR 05/06
BETA oo s 07/08
KUKA PUMP oo 09/10
B ot -11/12
PRE Divider e 13/17
Refilling Tools ------roeeeme e 18/18
BOBA TIMBE e 19/19
FItings = 20/24

Installation & Maintenance - 24/26




- ] L . °

Focus on Quality N ¢
Devote to Service . ;

www.pavee.net




i

®° Nanjing Pavee Machinery Products €O., Ltd
I’avee INfRonucrlou

Nanjing Pavee Machinery Products Co., Ltd is a
high-tech enterprise located at Nanjing, China.
The company dedicates itself exclusively to
centralized lubrication, as well as specialized
hydraulic systems.

We work closely with several institutes in Nanjing,
keep on developing & researching innovative
patented products, which offer competitive
advantages to our customers. What sets us apart
from our competitors is our professional team,
focus on highly-engineered, quality products, and
tailor-made solution.

We are accredited with ISO 9001. We have
iImproved our quality control system of whole
processes inside and outside. On this basis, we
offer variety of lubricators, dividers, fittings,
hydraulic units, etc.

High performance, reliable products have
Impressed upon our customers deeply. The
experienced team strives to tailor specialized
products and services to the customers. Energy
efficient, Environment friendly, lead us to more
and more industrial application, such as concrete
& construction machinery, port industrial, crane,
forging machinery, textile, printing machinery,
mineral industry, automobile chassis, and
automatic production line, etc.




Pavee’

DESCRIPTION

ALPHA is a high efficient piston pump with compact
structure, multi-function, and durability. It can work
stably against tough conditions in various industrial
applications, such as forging & pressing machine,
mineral machine, heavy vehicle, machine tools, etc.

Nanjing Pavee Machinery Products CO., Ltd

N B EE EE B B O G G O B S SN B BN BN BN BN BN B B R R O S S S S S BN SN BN BN BE O O O O O O S S A SN S aE am

FEATURE:

@® An optional built-in pump unit can offer high pressure and max
discharge volume about 22ml/min.

® Patented transmission runs the pump unit efficiently and
environment friendly.

® Patented grease level switch gives out an alarm signal when
the reservoir is empty.

® Abuilt-in digital timeris optional.

® Whene ujpE)ec with a solenoid relief valve, the pump can
work well in PDI mode.

® 2 optional outlets, horizontal or vertical outlet.

SPECIFICATION

(v

Rated Pressure 12MPa

Rated Discharge 22ml/min

Power Input 12VDCor24VDC
Motor Qutput 25W

Built-in Timer 5W (Optional)

Relief Valve 25W (Optional)
Reservoir Capacity 1Lor2L

Outlet Screw Rpl/4

Lubricant Viscosity NLGI 000#---2# or Qil
Ambient temperature 250 ~60C

__K01)

21MPa

13ml/min



.y, ®
Focus on Quality - Devote to Service Pavee

E_OEE OEE R R S S S SN B BN BN EE BN O B B R R O N S . B BE BN O B B BN R R O O N O A B BN G B N s

DIMENSIONS

Power Input

Power Input ]
signal Infout

signal Infout

' Y
. Pa .
L o ]

(@ ®

O
o
O

slslele 1
@ A

=t
Pavee
270
310({With Relief Valve)
— ]
Pavee

340

380(With Relief Valve)

-
&0

W2

4-@9 | o5

1\
200 B 220
F g \ Outlet

Qutlet

= I I

) vl ] o [+] =] @
Eﬂ E i O E o)
- = xnw =
2 ol o ﬂF:' = ) ol@ -~

53]
Filter ! Filter 1 |
1
Refilling Port Refilling Port
s 260 o . 260 =

ORDERING NO. Patent No.201730427102.6
Patent N0.201721154101. X

Powerlnput Rated Discharge  Reservoir Level switch Following plate

D: 24VDC 1: 13ml/min s T 1 D:PRG BLANK: N/A Bl BLANK: N/A
K: Singal Output
K1: PNP

E-12VDE 2:22ml/min 2 2L X: PDI T:with K2: NPN Y: with
K3: Micro Switch

NOTE:

@® Afollowing plateisonlyequipped with 2 liters reservoir
Level Switch "K": an output signal from lubricator with built-in timer;

Level Switch "K1/k2": an output signal from 1 liter lubricator without built-in timer;

Level Switch "K3": an output signal from 2 liters lubricator without built-in timer;

Ordering: ALPHA-D22X-TKY

§ 02>




; -~ @
Pavee Nanjing Pavee Machinery Products CO., Ltd

DESCRIPTION

POLY lubricator is designed for various applications. It can work against tough conditions to provide

proper lubrication. It works mostly with PRG dividers to serve proper lube to the points. When
equipped with a level switch and a built-in timer, the lubricator can run automatically. All units in the

lubricator are protected well against water and dust. And the protection grade is IP65,

SPECIFICATION
I

Rated Pressure 30MPa

Rated Discharge Every outlet:1.8ml/min, 5ml/min, 8ml/min,10ml/min

Power Input 12VDC.24VDC.110VAC. 220VAC. 380VAC

Motor Input 12VDC/24VDC, 50W

Reservoir Capacity 2L.4L. 8L (Nylon)

Qutlet Screw Rpl/4,M10*1,(Or othersspecial ordering)

LubricantViscosity NLGI 0004#---2#

Ambient Temperature -25°C~60°C

K038



Focus on Quality - Devote to Service

DIMENSIONS

&> ‘ ‘ Quitlet
L . Il /<7 M10X1orR1/4
i I . | R
I . 5' fi} " Ty
Sl 8
= I ; I _ Refilling Port
175 OF
130
12-09
| 'y
C b S
G b= =]
_"-.l_ -e. {?} He = ——xd ; | {?ql

ORDERING NO.

Power Input

Motor Speed

Pavee’

it Iz
— O
2 PN
e u
=
<t Qutlet . . Sy
1] it M10X1orR1/4 . % N :
s -l i b e ]
—-4— @ 8EH-© ¢ @ EHF
il —g—y g :l‘-“"; ﬂ: -_-j_-__ 4 1 ,;:_-; ?
S s e S 110 == - TS % S 15
T\ E o g B B B
=r - |
I [ Refilling Port : I ; [
g T
175
130
0 299 1 2-99
i raag— |1
_T_' = :;' .
e | r [} ,: o
i S =
= ; '._,. o !
-3 3 ) '3
s \ S8 ' ;
% K
41 8L

Reservoir Relief Valve Pressure Gauge

A: 380VAC 1: 18rpm 129
B: 220VAC 2:44rpm o
C: 110VAC 3: 56rpm 343
D: 24VDC 4:70rpm e
E: 12VDC 6: 6

2e ) 0: G1/4 0:N/A 0: N/A K1: PNP level switch
4: 4L M: M10*1 1:Standard 4. ®40,16MPa  K2: NPN level switch
8: 8L R: Rp1/4 2. Built-in 5: ®50,.35MPa  T:Built-in Timer

N: Other special

ordering H:combine outlets

P:High Volume

Ordering: POLY-B214-M15-TK1

04>




e

e ®
Pavee Nanjing Pavee Machinery Products CO., Ltd

T

DESCRIPTION

SKOM lubricator is a powerful pump with rigid frame against tough conditions. It can offer various

discharge volume while being equipped with different reducers. It can run reliably with maximum 8
outlets to the lube points directly without distribute block. Alarger capacity metal reservoir is optional.

SPECIFICATION
I

Rated Pressure 30MPa

Rated Discharge 1.6ml/min, 6.5ml/min, 10ml/min

Power Input 380VAC/90W, 220VAC/90W

Reservoir Capacity 8L(Nylon),15L(Metal)

Qutlet Screw Rpl/4,M10*1

Lubricant Viscosity NLGI000#---2#

Ambient Temperature -25°C~60°C

K09k



——
Focus on Quality < Devote to Service Pavee

sk |

DIMENSIONS

| I
|
i
|
i
|
(3196 ] i
| i 0228
| |
|
|
|
|
! L
£ =+ P
= — PN = 1

foéeoH

! / o
i1 TS
o) [Ilf |
f | 111 "i'.l' . . -_-. L = I
l  140x90 | NA99 ]
70
330
350
bt L |
e ; \ | =
o : — - A5
~ (7 , | ﬁ £ €5 : -
o ; [
X ; ] ’ |
@210~ / 9210 % <

ORDERING NO.

Outlet Screw Relief Valve Others

Power Input Reservior

Qty of outlet

Motor Speed Pressure Gauge

A:380VAC 1: 14rpm i i 8: 8L 0:G1/4 0:N/A 0:N/A K1: PNP Switch
B:220VAC 2: 56rpm 2:9 B:156L M: M10*1 1:Standard 4:®40,16MPa K2: NPN Switch
C:110VAC 3: others < R:Rpl/4 2: Built-in  5: ®50,35MPa  T: Timer
...... N:Other special H:combine
ordering outlets
8- 8 P: High Volume

Ordering: SKOM-A21B-R15-K1-P

J 06>




e ——

5 B ®
Pavee Nanjing Pavee Machinery Products CO., Ltd

DESCRIPTIO

BETA lubricator consists of a gear pump, a powerful motor, and an optional built-in timer. It is usually
running with metering unit or oil injector for oil lube system

SPECIFICATION
S

Rated Pressure 2.5MPa, 3.5MPa

Rated Discharge 108ml/min, 216ml/min, 600ml/min

Power Input 380VAC, 220VAC, 110VAC, 24VDC, 12VDC

Motor Output 15W, 40W, 50W

Reservior Capacity 2L,3L(PC),7L(Metal)

Qutlet Screw Rpl/8,M10*1

Lubricant Viscosity 32~2000 Cst

Ambient Temperature -25°C~60°C

K01k



Focus on Quality - Devote to Service

Pavee’

DIMENSIONS

—i
x5
s
[
g‘ Dutlet B8
—H
b

141

ORDERING NO.

PowerInput  RatedDischarge  RatedPressure

Power Supply,

Oil Outlet

signal output I

— o PAVEE
e 0 (LI1]
D000
-
[
[l
© '
o -—‘
4-@11
4 £~
® .
i <
- |
f';} \
. = '
340
366
il —

Reservoir

Level switch

Relief valve

A: 380VAC 1: 108ml/min 1: 2.5MPa

B: 220VAC 2:216ml/min 2: 3.5MPa

C:110VAC 3:600ml/min

D: 24VDC

E12VDO

L BLANK: N/A

4:4L T: With

2 N

24VDC input, 7 litres Reservoir, built-in Timer, for PDI

Ordering : BETA-D327-R15-TK-X

BLANK: N/A

K: With

X: With

BLANK: N/A

J 08 >



——— ®
Pavee Nanjing Pavee Machinery Products CO., Ltd

N B EE EE B B O G G O B S SN B BN BN BN BN BN B B R R O S S S S S BN SN BN BN BE O O O O O O S S A SN S aE am

DESCRIPTION
KUKA pump is designed especially for concrete mixer. —
When connected with a hydraulic cylinder, it works "|'

steadily, reliably to open and close the door of hopper. 1 i

T

R
The hydraulic unit consists of an electrical gear pump, i
a switch valve block, a manual pump unit and a tank. @
The manual pump unit usually works at maintenance or | IEL ]
test period. In case of power cut, we can also operate
the manual pump unit to dump the material from the f

hopperin time.

= 1 . '1

=] 9 ¥ -

-

v

Ll

¢

FEATURE:

® The hydraulic device is compact and reliable, nice appearance.
It is easy to operate and maintenance.

® Quality elements ensure the whole system running
smoothly at various rough working conditions.

® High protection grade meet with the concrete mixer’s
requirement.

® Various optional power voltage for different customer demands.

SPECIFICATION
Motor Output 2.2KW 3.0KW
Rated Discharge 10L/min 12L/min
QTY of Outlets p) 2 or 4
Rated Pressure 12MPa
Manual Discharge 25ml/cyc
Motor Input 380VAC/50HZ
Solenoid valve Input 24VDC or 220VAC
Tank capacity 8L Horizontal or 25L Vertical
Ambient temperature -25°C~60°C

K098



Focus on Quality « Devote to Service

E_OEE OEE R R S S S SN B BN BN EE BN O B B R R O N S . B BE BN O B B BN R R O O N O A B BN G B N s

Pavee’

URAPUP

DIMENSIONS

! |
i ()
N
E Lr_h 4 fl'ijj (= — I I ~
T3] 1 :
Q '
I f
03 gl S |
D
A L,
L.z 700 o
2 =
& = 3
b O
Mounting 9 —_ 1
Hole4-@12 530

ORDERING NO.

Horizontal or vertical Motor Output

450

210

Qutlet

270

Rated Discharge

5 [
|::|:|I ® §5
: ) 2
- g 4-911
_L _| 125%128
= D aze
& 1FE' 'm
790 1]

Solenoid valve

W: Horizontal type 2: 2.2KW

L: Vertical type 3: 3KW

Ordering:KUKA-W210-DC

10: 10L/min

12: 12LImin

DC: 24V

AC: 220V

10 »




Pavee’
avee Nanjing Pavee Machinery Products CO., Ltd

N B EE EE B B O G G O B S SN B BN BN BN BN BN B B R R O S S S S S BN SN BN BN BE O O O O O O S S A SN S aE am

DESCRIPTION

Pavee's FL injector provides a reliable and flexible way
to design an effective lubrication system for variety of
equipment. It works simply with a single main supply
line. It is powerful, adjustable, and easy maintenance

Each injector servers only one lubrication point and be
accurately aqjustable without any special tools to deliver
the precise amount of grease or oil required. Individual
injectors can be easily removed for inspection or
replacement, so that there is almost no lubricant loss or
downtime while system maintenance.

PRINCIPLE OF

OPERATING
feed line to
bearing
metering piston r check valve
adjust nut ;
|I|/ ﬂdlscharge chamber
|]4 measuring _j
e % chamber e
indicator stem / H/ ||j/
max 4mm 2
plunger [
lock nut @
'
supply line ‘3 i
from pump -up
NN\
Supply line pressured Supply line relieved
starting pressure 6Mpa(950psi) Balanced pressure 1.5Mpa(230psi) maximum
Stage 1: Stage 2:
iIncoming lubricant, under pressure from the when the system is vented(pressure
supply line, moves the plunger forward. The relieved),the plunger returns to the rest
plunger forces a pre-charge of lubricant from position, pushing lubricant from the
the discharge chamber through the outlet measuring chamber to the discharge
check valve to the feeding line.When the chamber for next cycle.

plunger at the top position, the pressure
lubricant movers the metering piston and
refills the metering chamber.

K11



Focus on Quality « Devote to Service

E_OEE OEE R R S S S SN B BN BN EE BN O B B R R O N S . B BE BN O B B BN R R O O N O A B BN G B N s

FLIECTOR |

SPECIFICATION

Pavee’

Working Pressure
Pressure after Relief
Discharg per Outlet
Viscosity of oil
Viscosity of grease

Ambient Temperature

max{f

Inlet Screw
Outlet Pipe
DIMENSION
o T
max4 - -
2-RC1/8 i
105 | |

ORDERING NO.

Ordering.NO

Outlets N

6.5~25MPa

Less than1.5MPa
0.019~0.143ml/cyc

32~2000 Cst

NLGI 000~2#

-25~80°C (120 °C with VITON seal)

Rc1/8

d4mm (Nylon&Rigid Pipe)

N-@4

] ] ] 2'@6;5

L]

L2

Outlet Pipe

89013-1
89013-2
89013-3
89013-4
89013-5
89013-6
89013-7
89013-8
89013-9
89013-10

FL-01
FL-02
FL-03
FL-04
FL-05
FL-06
FL-O7
FL-08
FL-09
FL-10

O 00 ~N & O A2 W N -

NELS
I

Inlet Screw
30 50
50 70
70 90
90 110
110 130 Rcl/8
130 150
150 170
170 190
190 210
210 230

4mm

12 >




e e —

— e
e

]

Pavee’

Nanjing Pavee Machinery Products CO., Ltd

PRG DIVIDER |

Segment code Discharge (ml)

1000-05T 0.08
1000-055 0.16
1000-10T .16
1000-105 0.32
1000-15T 0.24
1000-155 0.48
i 54 &
18
1| |RC1/8
L._" H
1 | |l 1 l
©
| 2 _ 1—1_
. (- L
0 AN Al
< E=0 0k
Fi1000,7 e
_r_: -m: " : . -L__1
| | |
P1000-SPECIFICATION

Max Pressure

Outlet

Segment size

mm

|
Tol
= /
o \!

Mounting DIM

Mounting thread

(A-14.5)

Length A

25MPa

Base Code: 58501

K13 8

Rp1/8

Rp1/8

54*32*14

18

3-M5

A=32+ N*14
N :pcs of segments



Focus on Quality - Devote to Service

PRG DIVIDER |

=30 2000-10T
. -
® o . 2000-10S
— 2000-15T
@9 @]
| - 2000-15S
Q. Qz'ur
@ —t 2000-20T
i @ 2000-20S
|
& 2000-25T
® o 2000-25S
9 . 2000-30T
® & 2000-30S
L 2000-35T
2000-35S
38.5
. 80 r b
n 4-@7.5 I— (1
| N T =
i 7Y
O & o
s B O F &
< | o A N =T " L
4 BH OO B o]
. 2 e — N B
i <D——<D e @
1 B + ¢
: e s o | R Wz
RN . 45
N (140) | 2
P2000-SPECIFICATION

Max Pressure

Pavee’

Segment code Discharge (ml)

Outlet

Segment size
mm

Mounting DIM

Mounting thread

0.16
0.32
0.24
0.48
0.52
0.64
0.40
0.80
0.48
0.96
0.56
1.12

Length A

25MPa

M12%1.5

Base Code.:58601

M10*1

80*45*19

£

4-M6

A=43 +N*20.5
N:pcs of segments

14 >



i

Ty, ®
Pavee Nanjing Pavee Machinery Products CO., Ltd

PRG DIVIDER |

Segment code Discharge (ml)

3000-25T 0.40
3000-25S 0.80
3000-50T 0.80
3000-50S 1.60
3000-75T 1.20
3000-755 2.40
3000-100T 1.60
3000-100S 3.20
3000-125T 2.00
3000-1255 4.00
3000-150T 2.40
3000-1505 4.80
128 —H
‘ 603
I . o | D9
| @19 j=u 92| D9
[I @ {ll !]i‘ i::’?%*‘[
e )" Dot
4284 -
T — T
47.6
P3000-SPECIFICATION

Max Pressure Segment size Mounting DIM Mounting thread Length A

mm

*T O A=5T7.4+N " 28.8
25MPa Rp3/8 Rp1/4 128770728 41.6 -3 N :pcs of segments

Base Code:.58901

K19 )



Focus on Quality + Devote to Service

Pavee’

_.\
i
ooy f o e oy
= T 7 = _l;l rd
- 11 i
—.-\.l
™

N

o

e
|
|
1
H_-rh-'_'r_'_-!-’._’.' o r = o = - - - -
T
RN
i
r|

Blinin

- --.'- I\ _.-:=-:_._
HiL

e rfi——m PEE PE
||L H ] % H

MVB-SPECIFICATION

Segment Code Discharge

Max pressure

Dimensions
MM

Outlet L{(mm) Mounting DIM

Mounting

MVBO601
MVB0801
MVB1001
MVB1201

Base Code.: 58701

0.17

60

75

S0
105

60*60*30

6077530

60790730
60*105*30

30MPa Rp1/8 D6 20 2-06.6

J 16 »>




. ®
Pavee Nanjing Pavee Machinery Products CO., Ltd

N B EE EE B B O G G O B S SN B BN BN BN BN BN B B R R O S S S S S BN SN BN BN BE O O O O O O S S A SN S aE am

PRGDIVIDER |

59
45 T 2-07 . B65 B
1 | o [mT 15T 15 _
— }.J [ . Segmentcode Discharge (ml)
HEEPEY OutletGl/s [ = & & |
el s U-4R
I SR U S U | {4 — i_
—— - Wit PN o e n Y U-6R
DD -+ 3 e e
1 : At o K Vst v U-8R (3
1 ". EL nl-"'vl .! . .-:";,:%II--- ._a.-::_'i.:-..-. ..|":4-- -] ]I"II.EtGllfr'q-
| S i 5 o et
' i L= U-12R

U Divider-SPECIFICATION

Max Pressure Outlet Mounting DIM Mounting thread

59768 51.5

15MPa G1/4 G1/8 45*54 2-M6 50*63*66.5

Base Code:.58801

4
=i} z =
p———Dall
L 150 __I
- 550(Full) "
_ 400(Empty) "

XL
4L

DESCRIPTION

MP manual pump integrates a grease gun with a manifold block. it works steadily to dispense
lubricant to the lube points in a simple and low-cost way.

The pump is used where no automatic or continuous lubricant supply is required, but where a
simple manual centralized lubrication system is desired.

SPECIFICATION

QTY of
outlets

Ordering NO Rated Pressure ReservoirCapacity Discharge

Greaserange

MP 76201 30MPa 400ml 2ml/cyc 2-12 NLGIO00#---2#

K11 3



- "
i,

2 — ®
Focus on Quality - Devote to Service Pa ee

E_OEE OEE R R S S S SN B BN BN EE BN O B B R R O N S . B BE BN O B B BN R R O O N O A B BN G B N s

REFILLINGTOOLS

PGF50 and GF350 are special manual tools to
refilling the lubricator reservoir. It is an economical
way to recharge the reservoir without air bubble or
contaminant mixed to the grease. It consists of a
pump body, 1.2 meter nylon hose and an quick
adapter.
i GF50 PGF50
Model Ordering NO Rated Pressure Discharge Outlet Greaserange
GF50 56861 R1/4
; i NLGI
GF50 56861-1 1MPa 50ml/cyc Quick Adapter o
PGF50 56862 R1/4
PGF50 56862-1 Quick Adapter
4

PUNP UNIT

PUMP UNIT is definitely a core part in a grease
pump. It is made of special alloy with high precise
grinding. It can build up high pressure to about
30MPa. Rated discharge is 0.12ml & 0.18ml per
cycle.

Model Rated Pressure Rated discharge Connecting thread
30016 0.12ml/cyc M22*1.5
30016-1 30MP3 0.18ml/cyc M22*1.5
30016-8 0.12ml/cyc M20*1.5
30807-1 0.12ml/cyc M18*1.5

Eﬂ == ﬁ T jf%




Pavee’
avee Nanjing Pavee Machinery Products CO., Ltd

SOMATIMER

SOMA TIMER are specially designed for various

centralized lubrication system. It Is based on a
MCU with good adjustability and high accuracy.

A customized PLC Timer is also available for
special ordering.

Ordering NO Voltage
SOMA-A 59201 380VAC R: with
SOMA-B 59202 <500W 220VAC R: with
SOMA-D 59203 24VDC 0: N/A, R: with
SOMA-E 59204 12VDC 0: N/A,R: with

4

A filter is an important unit to purify the lubricant

of whole system, by which the lube points get clean
grease. At the same time, the pump unit, divider
and other units in the system are protected from
contaminated grease damaging.

The filters GFL and ELS have different accuracy,
ELS is smaller and lower cost.

Ordering NO Rated Pressure Filtering accuracy Inletand outlet threads Grease range
GFL 59115 100pm NLGI
25MPa Rpl/4 0008
ELS 24 109 150pum

K19 )



Focus on Quality - Devote to Service

| [LC
SN\
c1 L

e
T
3 Liner

t’] sleeve

Bush

S
imne Convert
=
Adapter
L
( S ST.Tubing
- Couping
L Body

ST.Adapter

Ordering NO

51103
51104
51106
51108
1114
51112
51201
51202
51203
51204
1205
51206
51303
51304
51306
51308
51310
51312
51601
51602
51603
51604
21701
51702
51703
51704
51705
52201
52202
52203
52204
52205
52301
52302
52303
52304
52305
52306
52401
52402
52403
52404

D

04.8
o6

o8
@10
@12
@14
@4
23.8
o5

o8
@10
@12
M8X 1
M8X 1
M10X1
M12X1

M16X1.
M18X1.

M10X1
M8X1

M12X1
M10X1
M8X1

M10X1
M12X1

M16X1.5
M18X1.5

M8 X1

M10X1

M12X1

3.1
4.1
6.1
8.1
210.1
@12.2
a3
2.5
a4
6
@7.5
@9
3.1
@4 .1
6.2
8.2
@10.2
12.2
M8X1
M10X1
M10X1
M12X1
3.4
@4
26
6.7
a7.7
M6
M8X1
M10X1
R1/8
Z1/8
R1/8
M10X1
Z1/8
Z1/4
R1/4
R3/8
R1/8
M10X1
R1/4
Z1/4

4.5
4.75

15.5
11
15.5
15.5
16
15
12
12
13.5
14
16
16
25
25
26
26
25
28
32
35
35
21
18
18
18
18
20
20
20
20
20
22
25
25
30
30

Pavee’

2.4
1.9
3.4
5.0
6.7
7.5

10
13
17
19
12
12
14
14
10
12
14
19
21
11
11
11
11
11
12
12
12
14
14
19
16
16
16
16

20 >




——— .
Pavee Nanjing Pavee Machinery Products CO., Ltd

Illustration Name Ordering NO D
53201 M6 16 19X10
53202 M8X 1 19 19X10
53203 M8X 1 M10X1 19 19X10
53204 R1/8 19 19X10
53205 Z1/8 19 19X10
53301 R1/8 20 20X12
%)
Elbow 53302 M10X1 20 20X12
53303 M10X1 Z1/8 20 20X12
53304 Z1/4 28 23X14
53305 R1/4 28 23X14
53401 R1/8 25 29X17
53402 M10X1 25 29X17
53403 M2 R1/4 28 29X17
53404 Z1/4 28 29X17

Illustration Name OrderingNO p
52601 R1/8 30 11 12
: = 52602 - M10X1 30 11 12
52603 R1/8 38 14 14
N | | 5 52604 R1/4 42 14 14
(e (. = s 52605 R1/8 40 14 17
: 52606 a8 R1/4 42 14 17
- 52607 R3/8 43 19 i
5 52608 R1/4 42 14 21

ﬁ?ﬁ' @10
52609 R3/8 48 19 21
53601 R1/8 26 13 14

L
S 53602 06 M10X1 26 13 14
7\ = 53603 R1/8 28 15 14
e

. i Elbow 53604 e R1/8 28 15 17
53605 R1/4 38 15 17
53606 R1/4 42 17 19

@10
53607 R3/8 42 19 19
53701-1 52 14 12

@6
53701-2 56 17 14
Tube Union 53702-1 s 56 16 17
53702-2 70 16 17

53703 @10 80 19 18




Focus on Quality - Devote to Service

3!

A K X K X XK K X X

N ™ ™ ™ R ™

Illustration

Pavee’

Swivel
Adapter

Nylon

Polyurethane

Name

Ordering NO

30439-1
30439-5
30439-2
30439-3
30439-4
56102
56103
56104
56105
56106
56107
56108
56110
56402
56403

56404

Ordering NO d

M10X1

M10X1

M10X1

M12X1

M12X1

o4

D4

D4

D6

D6

D6

08

@10

210

8.6

211

R1/8

M10X1

R1/4

R1/8

R1/4

D2

2.5

@3

23

D4

D4

D6

D7.5

D4

4.2

D6

Remark

O.D.6mm

O.D.8mm

D4*1
24*0.75

34*0.5

@6*1.5 (Black)
@6*1

@6*1 (Black)
@8*1
@10*1.25
1004
08.6704,2

011706

Hose stud
i A

==

A A | ¥ A

A 10
F '

Thread Sleeve
7 e B

'FlexibleHose

Hose adapter
Assy

53801-1

53801-1

53806

53804

53808

53821 26 8.6
53822 @6 @10
53825 28 11
53823 90°,06 8.6
53826 90°,08 11
53824 45°,06 J8.6
53827 @10 11

53805

53807

Part B Part C
53811 56403
53812 56402
53813 56404
53811 56403
53813 56404
53811 56403
53813 56404

22 >




——
Pavee Nanjing Pavee Machinery Products CO., Ltd

FITTINGS |

Illustration Name Ordering NO Screw Pipe Adapter Remark
26006-1 R1/8
i @emm
ﬂ 26006-2 R1/4
ST.Pushin Fittings
26006-3 R1/8
@amm
26006-4 R1/4
26006-5 R1/8
@emm
| - 26006-6 R1/4
Swivel Pushin Fitting
26006-7 R1/8
@8mm
26006-8 R1/4
5372
53725 Quick Insert
ﬁfﬁﬂ?pti R1/8 Z6mm
PP 53721-1
53725-1 Quick Insert

Ordering NO L1 Outlets
2.06.57— _ 59012-2 2
e = 59012-3 3
. % E Nipples Assy 59012-4 N*20+4 (N+1)*20 4
=i 59012-5 ;
= ® = 59012-6 6

Illustration Ordering NO Pipe QTY Pipe diameter

56542-1 1
56542-2 2 6mm
56542-3 3
56543-1 1

Tubing Clamp 56543-2 2 8mm
56543-3 3
56544-1 1
56544-2 2 O
56544-3 3

K238



Focus on Quality - Devote to Service

Pavee’

Ordering |

Illustration Name NO

57101-4 4 48

57101-5 5 64

57101-6 6 80

= B...D_3 -
6%~ |v2)D 57101-7 7 96
— 1 L~ 2er Block
NS (e s ) 57101-8 8 112
& 1S e S 81|
. dlr L]
| It— 777 57101-9 9 128
A -
T Ptk 57101-10 10 144

A 57101-12 12 176

INSTALLATION

&MAINTENANCE

SYSTEM LAYOUT

Normally, routing of pipe layout for a whole
lubrication system should meet various
requirement for physical, economic, safety
and maintenance, etc.

36
52
68
84
100
116
132

164

16

32

48

64

80

96
112

144

d1=d2=M8"1

M8*1 M10*1 M10*1 (Optional)

First of all, Location of pump station should
be easily observed, service and refilling.

Shorten the mainline and branch line as

possible. Mounting the divider closer to
the lube pointas you could.

Tube & cable should be fixed steady and
protected well.

Heat protection is necessary at high ambient
temperature.

24 >




Pavee’

Nanjing Pavee Machinery Products CO., Ltd

INSTALLATION

&MAINTENANCE

TUBING AND ADAPTER

@ Flexible Hose

Step 1

Screwing the hose into the threaded sleeve counter-clockwise, daubing some grease on the
hose surface should be helpful.

Threaded _
Sleeve Flexible Hose

&
Step 2
Screwing the hose stud into the threaded sleeve, clockwise.
Threaded
Hosestud Sleeve Flexible Hose

&
Step 3

Check the hose assembly carefully. If there are some hose distortions at junction, cutting it off and
repeat the above steps. Any distortions on hose will reduce it’s pressure endurance.

Threaded _
Sleeve Bush Hosestud Sleeve Flexible Hose

4&_ I

Step 4
Check the whole hose assembly with compressed air.

K290



Pavee’
Focus on Quality - Devote to Service

INSTALLATION

&MAINTENANCE

€ Rigid Tubing

: : : ST.Adapter Sleeve Bush C tub
® Obviously, a special tube cutter is the guarantee -~ o PR
for a smooth vertical tubing incision. Remove all
burrs before assembling. ._
| o - NANNCSRNNNE B,
® Pushing the copper or steel tube inside an adapter SN 77/ )
and tightening up the bush & sleeve. F RO RO ORI
1 L . _.:‘ e
® Stabilizing the tube on the equipment with clamps. —— Ly
L x_
¢

TESTING & PRIMING

® Filling proper clean lubricant into the reservoir through the right refilling port.

® Loosening the inlet adapter of the divider, running the pump until the lubricant flow-out from the main
feeding line, then tighten up the adapter.

® Loosening the outlet adapters of the divider, running the pump until the lubricant flow-out from the
divider outlets, then tighten up the adapters.

® Running the pump until the lubricant reach the lube points, then tighten up all adapters, check the
leakage of the whole system.

® Keep the pump running and check system pressure till it works smoothly.

NOTE:

Make sure that every parts and fittings should be clean inside the whole system. Any dirt and debris
can damage pump unit and/or lubrication system.For higher viscosity fluids, start the pump to rotate
the stirring paddle during refilling to prevent air pockets from forming in grease.

¢

TIPS

® Check the lubricant level in the reservoir periodically. Refill the reservoir with clean lubricant if necessary.
Any contamination or bubble mixed in the lubricant might cause system failure or element damage

® Check the tubing and connection parts periodically to ensure no leakage. Repair or replace failure seal
elements if necessary.

® Check lubricant volume in the bearing seat when period maintenance. Adjust volume in time to meet the
proper lube requirement.

® Clean the pump, divider and inside tubing before the equipment be suspended for a long time.

J 26 >




www.pavee.net

Focus on Quality « Devote to Service

Nanjing Pavee Machinery Products CO., Ltd

ADD Lukou Industrial Park, Jiangning District, Nanjing,China
Fax.:025-8415 5881

Website : www.pavee.net

E-Mail . pavee@pavee.net




	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16


 
 
    
   HistoryItem_V1
   Splitter
        
     列：： 2
     行： 1
     重叠： 0.000000 points
     重叠到出血： 无
     仅将横向页分页： 无
      

        
     2
     1
     0
     0
     0.0000
     1113
     479
     qi3alphabase[QI 3.0/QHI 3.0 alpha]
     1
            
                
         AllDoc
              

       CurrentAVDoc
          

      

        
     QITE_QuiteImposingPlus3
     Quite Imposing Plus 3.0h
     Quite Imposing Plus 3
     1
      

   1
  

    
   HistoryItem_V1
   PageTools
        
     动作：移动页面
     范围： 从第1页 到第1页
     位置： 尾页之后
      

        
     MovePages
     1
     2
     1
     7
     AtEnd
     All
     1314
     497
    
     qi3alphabase[QI 3.0/QHI 3.0 alpha]
     R180
            
                
         Both
         1
         SubDoc
         1
              

       CurrentAVDoc
          

      

        
     QITE_QuiteImposingPlus3
     Quite Imposing Plus 3.0h
     Quite Imposing Plus 3
     1
      

   1
  

 HistoryList_V1
 qi2base



